JyAOY 4=b5y tv=-h"—- TIM=T1B-W
o & & % & & It 2 G
1 £ R 2 | 7hIzvLAE t2.0
2 KRGy — 2 | AT XALERARS Y - b i ERH
3 Unv t 2 | 7ThIzZvLAR —
4 | g&ur-Fy b | 4 | (W3/8x32) BRBH - &
5 | #wt-ry b | 4 | (MI0x40) BRBH - &
§ R T | 7rvizyLbs —
/ ¥ vy 7 T | 7rvizvLbe —
3 WHft28 | 2set | 7V IZIL8% EE—
9 | R=ZTFv-+ T | 7hizyLbe E—
10 | 7vn-#&ut | 4 | (M8x70) AREHD o &
@\ NOES KSAH08063
()
()
O— )
AL—¢ 54x12.0x 500
@ - @ REAME
y
Q! ) ©
M8x 50
A
L C D C D H C D C D T =k
. A 185
o (M8x70 7y =%w+)
o <
N T -
~| w0 (8) WEfT2 B3R S=1/5
G.L.
% N/ 48 BEX 2 RN E
aLag M6 5y 7 (Kfloa ) =
¢ 55 —
(M6x55,SW.N) SUS ABARLH2 Y -
N MEX 12,<12A5% —

&
N

] . T{
~| 2 /x S w_sj
‘ e N ‘ e M

<

FEN S=1/10 (9)~-27v - VEBE S=1/5 A-ASER S=1/2




